HEOOFT DA IILABREEDREIZDINT

B (8A1 4E)é iﬂ;}; 31&1 (1924~19424IH) @ FHEaO+
VA ILR ] BEELHER L7, _ _
K#tou?s%Eﬁ%%@%ﬁ%ﬁmt%@mﬁiﬂﬁéhofiuUiio

1 EEAHIBAL=ADME
. e FAE2B/HIN LD
BE | Eft | mE | mE S o pali:
810 BHNTHEIZHRSE
1924 504 Bt | H&A a2l BE 811,14 BATHSBICHS
‘813 EEMEEZ2
'8./9~11 {LEIIHKE
= ; 811 ESHEER%=FH
1925 501t B E-3aq-| = BEE |5 13 ﬁﬁggg%ﬁﬁﬁ
‘813 EEMEEZ2
811,12 1%
1926 4018 =4 E=ad-| #ES PR _2;13 Eﬁ%g’&g‘%
B HR a = =8
. o ; - } '8.13 ENAMNLIIRE
1927 201 ?'I'E K*iﬁ éﬁ%{§;§;§) EF'%‘EE .8./13 Eﬁ%ﬁé&%@
;E\Fﬁln% =] =0 =]
.y Fevy 4 = | 812 |;|<91‘75"O'J'FHI7R
1928 201t %'ﬁ k%ﬂi éﬁ%fg%g) g{ﬁ_’: .8.13 Eﬁ*ﬁﬁé%%@
o . -8./9~12 f+=(%
1020 | aof | Bt | 2HE 2 mE |5 9712 WELHE
1930 201% i i3 EK :2Pnd -
1931 | 20f¢ | %t %gg S #5  |-8.10 KAEEHA
1932 | 20 | kit %gg %25 BE  |-8.11 KAEEFHA
1933 501% SHit F=tan-| ES:-3 #AE IR 812,13 HFIZHE




: P . ER: PR — FHAE2 HRAIA DD
pIE | F | Rl ES AL oY oLy
8711 H=HIZiHE
1934 601% B BEx £5 BRE ‘8711 EREBIEZFIA
‘8712 EBRNEHREFIA
. s = ] 811 HHEIZHKE
1935 301% = E-Lag=| ms BIE 811~13 BIEORIEEEH
REAR -
. . _ -8.711 B ERZEFA
1936 301% g 3 (EERER 23hd .
& i (= 7E ) 811 EREBIEZFIA
‘8.8 B EEREFIA
1937 204t ZH E-gan-| = BiE *8.710. 11 EBAMHXREFA
‘8/12~14 BEH%EFHM
1938 204 B E-ad-] HE B :g;] 2;1114 %—%&ﬁiﬁ
1939 401% B E-gan-| = BiE -
1940 104% B =iRE = BiE -
1941 104% B INEHE = BiE 8712 B4\ EEREFIA
1942 501% ZH E-gan-| = BiE 8711 B4\ EEREFIA
2 %E@ SFRA~

BROARIZEEZAT 55

t/9—1§&%LT&U¥TO
BE. RREOERVELEESICE. FTHER MDY DITE] IZFES

L. REPREDERERTAHLIICLTLESL,

(AU DIFE] A<, HRTELIERBEITWNGRICE., TR2 - Bt

vA—] ITEMER NS ESIEBLLET,

2 4 B5fE)

—fRE:

(b=%2., Lo&—)

Q=2 - ikt A2 — (2 485M)
0570—200—218
3 ZF0hih
RIEHRIZ

EHEREO (O—IILE 32— -
0120—109—410(7U—74¥w)

BTEIV—FA4VILIZLKS Ta—)L

BANTOHREITHEEOHERZEZHSENLET,

\M%r%ﬁﬁiﬂﬁwﬁm("5%®1?o
BEFAANIRDIBRICOVTITISAN—REOEHRD

o, RBEEMDE



